





(
)
6-10 7.5 - 9.2 4
( mg/ 1) 100 <20-31 24. 01
( mg/ 1) 10 <1 <1
(mg/ 1) 2000 470 - 1600 996
(mg/ 1) 10 <0.|5 <0.5
(mg/ 1) 0.1 <0.04-0.042 0.04
( mg/ | 100 <15-49 20.0p
(mg/ 1) 20 <15} 18 15.
(mg/ 1) 0.5 <0./3-0. 34 .30
(mg/ 1) 1 <0. B <0.6
(mg/ 1) 15 <2 <2
(mg/ 1) 200 65.F - 160 10. 4
(°C) 43 16 -| 24 19.
(mg/ 1)
( mg/ 1) 2 <0. 4 <0. 4
(mg/ 1) 5 <1 <1
(mg/ 1) 0.1 <0|. 1 <0.
(mg/ 1) 1 <0. B <0. 3
(mg/ 1) 2 <0.5]-1.1 0. 61
(mg/ 1) 2 <1 <1
(mg/ 1) 5 <0.P <0. 2
(mg/ 1) 0.05 <0.05 <0.[p5
(mg/ 1) 2 <1-1.2 1.0
( mg/ 1) 2 <0. 4 <0. 4
(mg/ 1) 5 <1 <1
(mg/ 1) 2 <1 <1
# ( mg 1o <6.7-7.6 7 .10
(mg/ 1) 5 <1-8 2.2
(mg/ 1) 10 <2 <2




Al drin(mgl/lp.01 <g. 01 <0. 01
BHCS( mg/ | 0.01 <(g.01 <0. 0|1
(mg/ 1) 0.01 <(0.01 <0. 0|1
(mg/ 1) 0.1 <0l. 1 <0. 1

1,1, 1-

(mg/ 1) 0.05 <g. 05 <0. 0|5

(mg/ 1) 0.008 <0. 003 <0.[l003

B

(pcl/ 1) 10000 <10000 <1000]0
-226(pc/{l )30 <30 30
-90(pc/I}) 100 <10]0 <100

#
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D 21

(ppmn (
I )
( ) 8 (
) 12.3 -|12.8 12.6
( % 30
) 46 - 88 68. 6
(ppm) 0.5 <0.l5 <0.5
(ppm) 0.1 <0.0R-0.036 0.
(ppm) 10 <0.5} 1. 0.52
(ppm) - <0.5-65. 1:9
(ppm) - <0.5 <0. 5-
(ppm) - <1-7| 3 1. 3
(ppm) - <0.5-8.3 0-70
(ppm) 25 <2.5}10 4. 4
(ppm) 20 <1 <1
(ppm) 10 <5 <5
(ppm) 10 <1-6/.2 1.6
(ppm) 5 <5 <5
(ppm) 5000 <156 <15
(ppm) 10 <5 <5
(ppm) 2 <2 <2
(ppm) 1 <1 <1
TCDD( I TEF )
(pphb) 1 <1 <1




